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Stat 134
Monday October 10 2022

1. GSI Brian and Yiming are each helping a
student. Brian and Yiming see students at
a rate of Ag and Ay students per hour re-
spectively.
Let
B = wait time for Brian ~ FExp(Ap)
Y = wait time for Yiming ~ Exp(Ay)

What distribution is 7' = min(B, Y')?
Hint: compute P(T > t)

a Exp(max(Ag, Ay))
b Exp(Ap — Ay)
c Fep(Ap + Ay)

d none of the above

The greater the lambda, the smaller the density
for T > t. Therefore, we want the greater
lambda of the two.

They are independent and since we are
working with the minimum. Both of them are
greater than t. So we get the probability of
Brian's rate greater than t AND Yiming's rate
greater than t. Which uding the survival
function. We get e”(-lambda(b)-lambda(y)) then
you get exp(lambda(b)+lambda(y)).
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Monday October 10 2022

1. Suppose custopjers arrive at a ticket booth
at a rate of five per minute, according to a
Poisson arrival process. Find the probability
that starting from time 0, the 9th customer

doesn’t arrive within 5 minutes:
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